Economics: The Basics, 2e

Study Guide: Chapter 5

Learning Objectives

LO5-1 Define perfect competition and identify its key characteristics

LO5-2 Describe how businesses maximize profits in perfectly competitive markets.

LO5-3 Discuss the long-term outcome of perfect competition.

LO5-4 Compare and contrast the four types of market structure.

LO5-5 Explain how market power affects price and quantity supplied.

Outline

· Perfect Competition: 
· Necessary conditions: buyers and sellers are price takers, products are standardized, buyers and sellers are well-informed; therefore there are many buyers and sellers in the market, and no barriers to entry.
· Marginal Revenue (MR) = Price (P); businesses are price takers and must accept the market price.

· Profit maximized where Marginal Cost (MC) = Price (P).
· In equilibrium, supply will equal demand.
· In the long run:
· Profits will tend towards zero.
· Only the low-cost businesses will survive.
· Shutting down will occur when costs exceed revenues.
· Escaping Perfect Competition
· Some ways to escape perfect competition include: differentiating your product, advertising, or utilizing a reputational effect.
· Monopolistic Competition occurs when there are many sellers of products that are similar, but not standardized.
· Profit maximized where MR=MC, but in this case, MR<P.
· MR<P because in order to increase sales, the business must lower prices to all customers.
· In the long run, it begins to look more like perfect competition; it is difficult to maintain product differentiation because of imitation.
· Oligopoly occurs when there are a small (four or fewer) number of sellers in the market producing similar goods.
· They can engage in intense competition with each other or, alternatively, they can engage in collusion.
· Collusion occurs when businesses attempt to cooperate with each other to keep prices high.
· Collusion is difficult to maintain, because the incentive to increase profits often leads businesses to cheat by lowering their price.
· Monopoly occurs when there is only one seller of a particular good, and buyers have no other alternatives.
· This is the extreme opposite of perfect competition.
· Natural monopolies occur when it is efficient to only have one producer of a good; natural monopolies typically have large fixed costs and low variable costs.
· Perfect Competition vs. Market Power
· Perfect competition allows buyers and sellers to coordinate voluntarily.
· Market power (possessed by monopolistic competition, oligopolies, and monopolies) is the ability to raise prices above the market price of perfect competition.
Common Myths & Common Problems

· In perfect competition, businesses can set prices as high as they would like.

· This is not true, because in perfect competition businesses are price takers. This means that businesses must accept the market price. If businesses raise prices higher than market price, no one will buy that good because they will purchase it from businesses offering it at a lower price.
· In perfect competition, businesses will always make profit in the long run.

· In the long run, profit (in a perfectly competitive market) will tend to be zero. If profit is positive, more businesses will enter and drive profits down. A negative profit will drive businesses out of the market and increase profit. The only stable point is where profit equals zero in the long run.
· Many oligopolies engage in illegal collusion so they can charge higher prices to consumers.

· The problem with collusion is that it is difficult to maintain. Eventually, one of the businesses will have an incentive to cheat the other businesses in the collusion. This is because if I lower my price from the agreed-to price (set by the collusion), I will increase my profits, because I will be able to undercut the remaining colluders. However, all the other businesses in the collusion understand this as well, and may end up doing the same. This means that there will be distrust amongst the businesses in the collusion.
· I can’t find the optimal output for this business in the following chart and I don’t know if this represents perfect competition or some other market structure:

	Output
	Marginal Cost
	Marginal Revenue (Market Price)

	100
	$100
	$300

	200
	$200
	$300

	300
	$300
	$300

	400
	$400
	$300


· If this business wishes to maximize profits, the optimal level of output will be where marginal cost equals marginal revenue. In this case, under the conditions of perfect competition, this business will maximize profits when marginal cost equals the market price. This means that at 300 units, marginal cost will equal the market price. Therefore, the optimal level of output will be 300.

Real World Applications from an Economist’s Perspective

In recent years, many states have reported a “teacher shortage”. These states claim that they have had a difficult time finding enough public school teachers. From an economist’s perspective, this chapter’s discussion of market power and monopoly may help provide some insight as to why some states are experiencing a “teacher shortage”.

The market for public school teachers is a closed market that is regulated by the state. This means that in order to become a public school teacher, that person typically must become accredited by the state; in some states, this means that teachers must have an undergraduate degree in education, in addition to being accredited by the state. Essentially, the market for public school teachers is a monopoly. The monopoly exists because there is no open competition in the public school teacher market. In effect, this is a restriction on supply.

Because this market is monopolized, public school teachers have some degree of market power. This means that by restricting supply (through regulation), the wages paid to public school teachers are higher than what they would be in a competitive market. However, this also means that the quantity of public school teachers will be less than the quantity under perfect competition. See the graph below:
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The perceived “shortage” may be a natural outcome, given the various states’ regulatory policies of licensing teachers. The real question we need to ask is not whether there is a “teacher shortage,” but rather whether the monopoly on teaching is too effective in its restriction on supply.
Now it’s Your Turn

1.  The medical profession is a monopolized industry because only licensed doctors can practice medicine. What is the effect on price, given this monopoly? Will more people or fewer people be able to receive medical care?

2.  Some classes are graded on a bell curve (where one’s grade is determined by comparing their performance to the rest of the class’). Sometimes college students attempt to collude with each other by studying together. Often times, these study groups fragment (i.e. they break up). Explain why collusion in this situation is difficult to sustain.

Practice Quiz

1. A profit maximizing firm in perfect competition will maximize profits when:

a. MC=MR.

b. MR>MR.

c. MC=P.

d. Both A and C.

2. Which of following is not necessary for a perfect competition to exist?

a. Similar goods

b. Many buyers and sellers

c. Limited information

d. Buyers and sellers are price takers

3. Price taking firms:

a. Set the price.

b. Accept the market price.

c. Charge more than market price.

d. Engage in collusion.

4. Which of the following is not a barrier to entry?

a. Regulation

b. Licensing

c. An education requirement for a job

d. Allowing anyone to open a shop

5.  Market power is:

a. Something businesses have in perfect competition.

b. Something only monopolists have.

c. The ability to raise prices above those in perfect competition by restricting supply.

d. None of the above.

6. An oligopoly exists when:

a. There are few sellers in the market.

b. There are many sellers in the market.

c. There is only one seller in the market.

d. Collusions succeed.

7. In perfect competition, new entrants into a market will:

a. Increase supply.

b. Decrease supply.

c. Lower the market price.

d. Both A and C.

8. In monopolistic competition, marginal revenue is:

a. Equal to the market price.

b. Greater than the market price.

c. Less than the market price.

d. Upward-sloping.

9. Collusions:

a. Are usually successful, because there is no cheating.

b. Are readily seen in the market.

c. Usually fail, because there is an incentive to cheat.

d. Are readily seen in monopolies.

10. Which of the following is a way to escape perfect competition?

a. To develop a better product

b. To choose not advertise

c. To build the same product as your competitor

d. To not change what you are doing

Answer Key

1. D

2. C

3. A

4. D

5. C

6. A

7. D

8. C

9. C

10. A

